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World War II

The Trigger: Because of the failure of Appeasement, Britain and France now HAD to guarantee the security of Poland.

Stalin had become frustrated due to the West’s inability to stop Hitler, or deal with the USSR in any way. SO!
The Russo-German Non-Aggression Pact of 1939 was signed.

Russo-German Non-Aggression Pact
Perhaps the most significant treaty of WWII was the Russo-German Non-Aggression Pact in 1939. This treaty shocked the Allies at a point when they had depended on historic Russian hatred of the Germans. The treaty also allied communist governments with dictatorships, causing communists in 
[image: image2.png]



France and Britain to feel sympathetic toward Germany, which caused a multitude of problems with national unity. Fortunately for the Allies, the alliance was dissolved when Hitler decided to invade Russia, at which [image: image3.png]BZ2Z3 ToGerminy EEE3 ToRussi



point Russia pledged her full strength to support allied forces. 
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SEPT 1, 1939: Germany invades Poland.
http://www.youtube.com/watch?v=ZZPGu7dwUOM
Conquest/ Partition of Poland and the Phony War:
Background:

1.
 The Treaty of Versailles: - 
created Poland






Created the Polish Corridor






Took Danzig from Germany

2. 
Hitler “only wanted” the return of Danzig and the liquidation of the Polish Corridor.

3. Hitler and Stalin in the Russo-German Non-aggression Pact secretly agree to divide Poland and the USSR would get Latvia, Estonia, Lithuania and Finland.
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The Invasion of Poland:

· Sept 1, 1939, German forces invade.

· Britain and France declare war on Germany, because of recent failures (Czech).

· USSR and Italy remain neutral.

BLITZKRIEG: “Lightening War” The rapid movement on the part of the air force, armored equipment and the infantry. The opposition could not establish a strong defense to combat this new type of warfare.

· It takes Hitler 3 weeks to defeat Poland, who put up a great fight, but could not combat Blitzkrieg.

· Britain and France do not attack, the French waited, the British not yet equipped to help.

· Sept 17, 1939 the USSR attacks Poland from the East

· Sept 27, 1939, Poland surrenders and is split in half by Germany and the USSR
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The Phony War:
· No offensive action by the British, French or Germans for 6 months after the fall of Poland.

· French remained Behind the Maginot Line.
· The Germans behind the Siegfried Line.
· USSR attacks Finland in Nov 1939, Britain and France do not help.

War in the West:  

1. Sequence of events:

· April 1940, Germany conquers Denmark and Norway.

· Valuable air and submarine bases for Germany.

· Winston Churchill replaces Chamberlain as British Prime Minister.

- 
May 1940, Blitzkrieg in the West to conquer France.

· Holland falls in 4 days.

· Germans drive British, French and Belgian armies back to the English Channel and avoid the Maginot Line 
· Belgium falls in 18 days.
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Dunkirk: 300,000 British and 150,000 France troops trapped on the beach. A massive evacuation effort followed by an armada of boats from Britain. Everyone who owned a boat went across the Channel to pick up [image: image10.png]


the BEF and Allied troops. All equipment left behind. Major mistake by Hitler as he had his forces slow down before they reached Dunkirk. They could have wiped the Allied force out. Churchill exclaims, “Wars are not won by evacuations.”

June 1940: 
http://www.youtube.com/watch?v=9g2kUYYIuBI&feature=related
· June 4 – German Panzers (tanks) and the Luftwaffe (air force) strike south against France.

· June 10 – Italy declares war on France and invades.

· June 14 – Paris is captured. Little resistance.

· June 25 – Fighting stops. An Armistice is signed in the same railway car that the WW I armistice was signed in. Hitler loved this!

· Petain signed for the French and agreed to a collaborationist government with the Nazis.

From this 3 France’s would be created:

1. Occupied France – Physically occupied by German troops

2. Vichy France – Collaborationist French (Petain)
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Free France – French forces in Britain

Why did France collapse?
· Tactics outdated, expected a static war, failure of the Maginot line as main defense.

· Germans more skilled with Blitzkrieg.

· Demoralized French infantry.

· Leadership was corrupt and defeatist – Petain and Laval.

The Battle of Britain:
· Mid July to mid September 1940.

· Hitler drew up plans for the invasion of Britain called Operation Sea lion.
· Britain stood alone after the fall of France. USA still not in the war yet.

· In order to invade Britain, Hitler would have to control the skies over the Channel in order to launch an amphibious assault on the British mainland. Britain was an island.
· This would be a battle between the Luftwaffe and the RAF (Royal Air Force).
· Goering concentrated his attacks on British air bases

· Outnumbered 5 to 1, the RAF won. Why?

1. The British had the Spitfire, an excellent fighter plane.
2. Superb British and Canadian pilots.

3. The British had developed Radar, which allowed them to know when the Germans were attacking.

4. Inspirational British leadership. - Churchill

5. “Never was so much owed by so many to so few.” Churchill.

6. The Germans turned their attacks on the cities instead of military targets in retaliation for a British bombing of German cities, after a German bombing group got lost and bombed a British city.
The Blitz 1940
· After failing to defeat the RAF, Hitler commenced bombing to undermine morale and decrease industrial output.

· This period is known as The Blitz.
Britain refused to surrender and Hitler abandoned his invasion plans.
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